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Mister Bean is a British man. He is sixty-five years old and he lives alone in his flat

in London. His birthday is on the 6 of January.

Mister Bean is always wearing a brown jacket, brown trousers, a white shirt and
a red tie. He is tall and thin. He has got short brown hair and small brown eyes.
He hasn’t got glasses and beard. He is very funny, sympathetic and makes
people laugh. Mister Bean has got a strange best friend because it is a teddy
bear and his name is Teddy. The bear is dark brown with button eyes. Mister
Bean often pretends it is alive and behaves as if the bear is real, buying it a
Christmas present. Mister Bean has got an old yellow car but he isn’'t a good

driver.

Mr. Bean tries to do everyday things like swimming, redecorating his house or
taking an exam. He likes cooking, he loves eating ice-cream but he doesn'’t like

going to the supermarket and he hates sweeping.




Answer the questions about Mr. Bean

1) Mister Bean is from London.
2) Mister Bean is 65 years old.

3) Mister Bean hasn’t got brown hair.

4)Mister Bean has got a beard.

5) Teddy is his best friend.
6)Teddy has got a yellow car.

7) Mister Bean is always at his flat.
8)Mister Bean swims every day.
9)Mister Bean is good driver.

10) Mister Bean loves vanilla ice-cream.
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